RSE1163512

®.078 X .355 MIN DP
POLARIZING HOLE

3X .200
—— .100

4X R.09

— .100

4X R.06 -_.‘
s

e 3 2
® ® RO

“\@ ® OO0+

1.406

—

1.74 MAX

1.080

—_— ]

1.020

RSE116512

290
245

RSE116512
/PCD  XXXX

295 |
.265

IDENT. MARKING
COLOR: BLACK

.06 HIGH

|

1.085 MAX ——

SOCKET ] i

TOP MOUNT

INSTALLATION SEQUENCE BY ITEM NUMBER

TYP 2 PLACES

REV ECN APP'D

J 3629

MOUNTING STUD, FIXED;

CRES, PASSIVATE.

.112—40 HEX LOCK NUT,
STEEL CAD PLATE;
TORQUE TO 4+1 LB—IN.

(3) #4 FLAT WASHER;

STEEL, CAD PLATE.

—— 1.406

)/— .125 MAX THK. PANEL. ‘ ‘

#4 FLAT WASHER; 277

CRES, PASSIVATE.

.112—40 HEX LOCK NUT,
CRES, PASSIVATE;
TORQUE TO 4+1 LB—IN.

.555

4+
2X CLEARANCE HOLE —/O

®.125 — TOP MOUNT
®.208 — BOTTOM MOUNT ?

4X R.05

@

—— 1.110 —

RECOMMENDED

MOUNTING STUD, FIXED;
CRES, PASSIVATE.

MOUNTING PANEL
CUTOUT

\— DATE CODE

)Cé"i
i

SOCKET 1
2

¥ .093 MAX THK. PANEL.

.112—40 HEX LOCK NUT,
STEEL CAD PLATE;
TORQUE TO 4+1 LB—IN.

#4 FLAT WASHER;
STEEL, CAD PLATE.

.190-32 HEX LOCK NUT,
STEEL, CAD PLATE;
TORQUE TO 18+1 LB—IN.

#10 FLAT WASHER;

CRES, PASSIVATE. NOTES:

1. PART DESIGNED PER STANDARDS AND FUNCTIONAL
REQUIREMENTS OF MIL—PRF—12883.

2. MATERIALS:
HOUSING — POLYETHERIMIDE, COLOR: BLUE—GREEN.
GROMMET — SILICONE RUBBER, COLOR: RED.

3. PART ACCEPTS EIGHT P/N CNS127900 SOCKET CONTACTS;
SUPPLIED IN SEPARATE CONTAINER WITHIN UNIT PACKAGE.

4. MOUNTING HARDWARE SUPPLIED IN SEPARATE BAG

#4 FLAT WASHER;
CRES, PASSIVATE.

.112—40 HEX LOCK NUT,
CRES, PASSIVATE;

¢1G9113Syd

LX TORQUE TO 441 LB—IN. WITHIN UNIT PACKAGE.
5. CONTACT INSTALLATION TOOLS:
v @ @ @ @ BOTTOM MOUNT CRIMP TOOL — M22520/1—01
INSTALLATION SEQUENCE BY ITEM NUMBER POSITIONER — M22520/1—02
g @ @ @ @ TYP 2 PLACES INS/REM TOOL — M81969/14—03
¢ ¢ X |
g DIMENSIONS | TOLERANCES | PROJECTION TITLE
s oo | oo o SPECIFICATION DRAWING RELAY SOCKET
POSITION MARKING : : : 5 BPOLE 10 AMP
MOLDED—IN OR WHITE INK UNITS: INCHES | .XXX 005 @ (] — ,
OPTIONAL ACAD FILE ANGLES  +2°
A. PATRIE 12/21/98 SIZE 16/20, 38 POS
ORIGINAL THIS DOCUMENT CONTAINS CHKD SIZE | DWG NO. REV
PROPRIETARY INFORMATION WHICH
IS THE CONFIDENTIAL PROPERTY [ APPD B RSETT16512 J
OF £CD, INC. PEABODY, MA, USA CODE: 58982 SCALE: 2X SHEET 1 OF 1




Mouser Electronics

Authorized Distributor

Click to View Pricing, Inventory, Delivery & Lifecycle Information:

Amphenol:
RSE116512


https://www.mouser.com/amphenol-pcd
https://www.mouser.com/access/?pn=RSE116512

